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Group 1

Identify the correct classification of items 1 through 12 by writing the identifying letter of the best choice on your answer sheet.  A choice may be used more than once.  These twelve items belong to a retail company that sells electronics.

	A
	contra-asset
	
	G
	operating expense

	B
	contra-stockholders’ equity
	
	H
	other expenses

	C
	cost of merchandise sold
	
	I
	other revenue

	D
	current asset
	
	J
	plant asset

	E
	current liability
	
	K
	revenue

	F
	long-term liability
	
	L
	stockholders’ equity


1. Paid-in Capital in Excess of Par






  7. Retained Earnings

2. Discount on Note Payable (note is short term)



  8. Loss on Plant Assets

3. Allowance for Uncollectible Accounts





  9. Purchases

4. Unearned Rental Income



   




10. Interest Income

5. Interest Receivable (the associated note is short term)

11. Land

6. Dividends Payable (due in two months)

          
     *12. Dividends—Common 

Group 2
Birdminded, Inc. has the following information about a bird feeder that sells for $20 each.  During the year Birdminded sold 100 units.

	
	
	Number of

Units
	Cost per Unit
	Extended Amount

	Jan 1
	Beginning Inventory
	3
	10.00
	30.00

	Jan
	Purchase
	1
	10.10
	10.10

	Feb
	Purchase
	30
	10.20
	306.00

	Mar
	Purchase
	26
	10.60
	275.60

	Apr
	Purchase
	7
	10.80
	75.60

	Oct
	Purchase
	40
	10.80
	432.00

	Nov
	Purchase
	1
	11.00
	11.00

	Dec
	Purchase
	2
	11.20
	22.40

	
	
	110
	
	1162.70


For questions 13 through 15, write the correct amount on your answer sheet.  All three questions begin with the following:  What is the amount of gross profit for the year if the…

13. …FIFO method of inventory valuation is used?

*14. …LIFO method of inventory valuation is used?

15. …average cost method of inventory valuation is used?

Continue to use the information above and write the identifying letter of the best response on your answer sheet.

16. In a period of rising prices which method results in the lowest gross profit on sales?


      A. FIFO       B. LIFO

Group 3

The following rates and maximums per employee per year are in effect:

	Social Security
	6.2% on gross earnings up to $102,000

	Medicare
	1.45% on all earnings

	Employee Federal Income Tax
	15% on all earnings

	Employee State Income Tax
	2% on all earnings

	Federal Unemployment Tax
	.8% on first $7,000 of gross earnings

	State Unemployment Tax
	2.7% on first $9,000 of gross earnings

	Overtime
	1½ times regular rate for hours worked in excess of 40 hours in a 5-day work week


The applicable employer matching taxes are at the same rate as the employee rate.  In this state only employers are subject to unemployment taxes.

Selected information from a weekly payroll register for one employee is presented below with some amounts intentionally omitted.  Prior to this week’s paycheck the employee had accumulated gross earnings of $6,500.  The payroll clerk is new to the job and was unsure what to deduct.

	Gross Earnings:
	

	   Regular
	

	   Overtime (6 hours)
	180.00

	   Total Gross Earnings
	

	Deductions:
	

	   Social Security
	

	   Medicare
	

	   Federal Income Tax
	

	   State Income Tax
	

	   Health Insurance Premium
	150.00

	   Federal Unemployment Tax
	

	   State Unemployment Tax
	

	   Total Deductions
	

	Net Pay:
	


For questions 17 and 18, write the correct amount on your answer sheet.

*17. What is the correct amount of the employee’s paycheck?

18. What is the correct amount of the employer’s payroll tax expense?
Group 4

For items 19 through 27 indicate which of the following accrual or deferral categories each item represents for various companies with a December 31 fiscal year end.  Use the following code and write the correct identifying letter on your answer sheet.




A. Prepaid Expense


C. Accrued Expense



B. Unearned Revenue


D. Accrued Revenue

19. A company’s employees worked Monday, December 29 and Tuesday, December


30 and will receive holiday pay for December 31, but the company will not issue the 


paycheck until January 5

20. Cash received by a ballpark in January for season tickets to all home baseball

      games to be played in the summer   

21. A two-year premium paid on December 30 on an insurance policy  

22. Interest on an interest-bearing note receivable for the last 15 days of December


when that note matures on February 14

23. Fees collected in December by a CPA for an audit to be performed in January  

24. Property taxes incurred for December that are due to be paid in February  

25. Office supplies purchased in December that have not been used   

26. The fee billed by a CPA for a completed individual income tax return that has not yet


been delivered to the client   

*27. The bank discount on a non-interest-bearing note payable that was signed on 


December 31 and is due on January 30

Group 5

Davis Co. carries an average monthly inventory of $50,000.  When the company prepares interim financial statements, the accountant estimates the ending inventory using the gross profit method.  Davis historically has averaged a gross profit percentage of 44%.  Following are the normal balances in the general ledger as of January 31, 2009:

	Net Sales
	26,500

	Beginning Inventory, January 1, 2009
	51,420

	Net Purchases
	12,110


For question #28 write the correct amount on your answer sheet.

28.
What is the estimated ending inventory on January 31, 2009 using the gross profit


method?

Group 6

On August 4, 2008 Express Video borrowed $15,000 from Best Bank by signing a 180-day, 6% interest-bearing promissory note.  (This is the only time the company has ever had to borrow money from any source.)
Express Video has the following accounting policies and procedures:

· Uses the accrual basis of accounting
· Fiscal year-end December 31
· Adjusting entries are prepared only at fiscal year-end
· Closing entries are prepared only at fiscal year-end
· Uses reversing entries
· Uses 360-day year for promissory note calculations

For questions 29 through 36, write the identifying letter of the best response on your answer sheet using the following code.  A response may be used more than once.

A. zero




D. $372.50 debit

G. $900


B. $77.50 debit


E. $372.50 credit

H. $15,000


C. $77.50 credit

F. $450




I.  $15,450

29. What is the face value of the note?

30. What amount is credited to Notes Payable on August 4, 2008?

31. What is the maturity value of the note?

32. What is the balance of Interest Payable on December 31, 2008?

*33. After reversing entries are posted what is the balance of Interest Expense?  

34. After reversing entries are posted what is the balance of Interest Payable?

35. When the maturity value is paid on the due date, what amount is actually debited to 

      Interest Expense?

36. After the payment entry is posted what is the balance of the Interest Expense 

      account?

Group 7

Anoopdog, Inc. bought a machine on January 1, 2006 that had an original cost of $56,000 with an estimated salvage value of $5,000 and an estimated useful life of 5 years.  For questions 37 and 38, write the correct amount on your answer sheet.

37. What is the book value as of 12-31-08 using the straight-line method?

*38. What is the book value as of 12-31-08 using the double-declining balance method?

Group 8

Buford Wagner owns Teletalk, a sole-proprietorship that makes telemarketing phone calls on behalf of a wide variety of companies.  Products sold by phone range from long-term care insurance to skin care products.
Each employee is expected to make a minimum of 160 phone calls per 8-hour shift.  On average 5% of the phone calls results in a sale and each successful sale results in an average commission to Teletalk of $150.

Teletalk’s commission revenue for the month of April was $264,000 generated by 11 employees.  April’s salary expense was $28,160.  The owner withdrew $8,500 in April.
Buford is considering renting the office next to his existing building to expand the number of callers he employs.  If he hires more employees, he will contract with additional companies to promote new product lines.  These new product lines will result in commission rates that do not match the company’s existing historical averages.

Buford wants to carefully evaluate whether more employees will contribute to the overall profitability of the company.  He intends to analyze employee productivity by using the sales per employee ratio.  His research shows that companies with a higher ratio are considered more efficient than those with lower figures and that a higher ratio indicates the company can operate on low overhead costs.

The following projections were calculated:

	
	# of Additional Employees
	Increase in Salary Expense over April’s Salary Expense
	# of Additional Product Lines
	Increase in Revenue over April’s Revenue

	Option 1
	5
	$12,800
	2
	$184,000

	Option 2
	8
	$20,480
	4
	$334,500

	Option 3
	12
	$30,720
	9
	$440,950


For questions 39 through 41 write the identifying letter of the best response on your answer sheet.

39. What was the employee productivity for April?


A. $2,560       B. $21,440       C. $24,000       D. $28,160       E. $264,000

*40. If Option 1 is chosen, what would be the employee productivity for May if the


projections are met?


A. $11,500     B. $25,440     C. $28,000     D. $36,800     E. $40,727     F. $89,600

41. Considering each of the three options and assuming that projections are accurate, 


which option will yield the highest employee productivity?


A. Option 1      B. Option 2      C. Option 3

Group 9

On January 5, 2008 Absolon, Inc. was organized and authorized to issue 500,000 shares of $25 par common stock and 75,000 shares of $100 par, preferred 6% stock.
The company prepares adjusting and closing entries only at the fiscal year end which is December 31.  The company prepares a Balance Sheet, Income Statement, and Statement of Stockholders’ Equity annually.

In January 5,000 shares of common stock were issued at par, 3,000 shares of common stock were issued at $28, and 300 shares of preferred stock were issued at $100.
The company earned $89,400 in net income in 2008.  On December 20, 2008 the board of directors declared an annual dividend of $29,800 for both preferred and common shareholders to be paid by March 15, 2009.
For questions 42 through 45 write the correct amount or number on your answer sheet.

*42. Of the total dividends declared, what amount per share is available to the common

    
stockholders?
43. After closing entries how much of the net income is retained by the corporation?

*44. What amount should be reported on the December 31, 2008 balance sheet on the 

     
single equity line called Stockholders’ Equity?  
45. How many shares of common stock are unissued as of December 31, 2008?
Group 10
Refer to the data in Table 1 at the top of page 10.  For questions 46 through 56 write the identifying letter of the best response on your answer sheet.

46. The net sales amount is

A. $146,080

C. $181,442

E. $183,758
B. $178,950

D. $182,600

F. $186,250
47. The estimated percentage of net sales that will be uncollectible is determined by

A. calculating the relationship between sales discounts and returns and allowances
     to gross sales (2,404 + 1,246) / 182,600 = 2%.

B. averaging the actual accounts written off in the last five year period of all 
     businesses in the area

C. reviewing Skyline’s previous experience in collecting sales on account

D. analyzing an aging of accounts receivable

E. accessing percentage data in trade journals for a variety of trades

48. The estimated bad debts expense for the fiscal year is

A. $2,921.60

C. $3,628.84

E. $3,675.16
B. $3,579


D. $3,652


F. $3,725
Group 10 continued

49.The accounts to be debited and credited for the estimated bad debts amount are





         Debit








    Credit

A.               Bad Debts Expense   
      
  

      Accounts Receivable


B.    Allowance for Uncollectible Accounts                 
         Revenue


C.                      Revenue




Allowance for Uncollectible Accounts


D.               Bad Debts Expense 



Allowance for Uncollectible Accounts

50.After the adjusting entry is posted, what is the balance of the Allowance for 


Uncollectible Accounts?

       A. $2,975     B. $3,579     C. $4,183     D. $4,329     E. $32,337     F. $32,941


51. After the adjusting entry is posted, what is the balance of the Bad Debts Expense

account?

A. zero     B. $2,975     C. $3,579     D. $3,652     E. $3,725     F. $4,183

52. The book value of accounts receivable before the adjusting entry is posted is

A. $32,337     B. $35,916     C. $36,520     D. $37,124      E. $40,703

*53. The book value of accounts receivable after the adjusting entry is posted is

A. $32,337

C. $36,520


E. $40,703 

B. $35,916

D. $37,124


F. $41,307

54. The following accounts are found on which financial statement?

                Allowance for Uncollectible Accounts
     Bad Debts Expense

A.

    


Balance Sheet

                      Balance Sheet


B.                 
   Income Statement

        
       Income Statement


C. 

    


Balance Sheet




Income Statement


D. 



   Income Statement




   Balance Sheet

Continue to use Table 1.  For questions 55 and 56 assume that instead of using the net sales method, Skyline Company used the aging of accounts receivable method.  According to the aging report the total estimated uncollectible amount is $4,420.

55. What is the balance of Allowance for Uncollectible Accounts after the adjusting entry 

     
is posted?

     
A. $604       B. $3,579       C. $3,816       D. $4,183       E. $4,420       F. $5,024

*56. What is the balance of Bad Debt Expense after the adjusting entry is posted?

      A. zero
 B. $3,579       C. $3,816       D. $4,183       E. $4,420       F. $5,024
Group 11
Refer to Table 2 at the bottom of page 10.  For questions 57 through 60, write the identifying letter of the best response on your answer sheet.

57. The net income was divided


A. equally


B. based on original capital investment of February 1


C. based solely on the subtotal for all investments less withdrawals


D. based on a fractional share basis of 2:3:5 respectively for Partners A,B,C


E. according to the managing partner’s choice of 30%, 20%, and 50% respectively 


     for Partners A,B,C

58. The return on equity for Partner A (using the same philosophy as Partner C) is


A. 15.25%       B. 15.52%       C. 18.0%       D. 18.95%       E. 45.0%

*59. Consider the percentage of net capital contributed for each partner and analyze the 


division of net income among the partners.  Which of the following is true?


A. Partner C’s percentage of net income was larger than his percentage of net 



capital contributed.


B. Partner A received 20% of the net income and contributed 20% of the net capital 



contributed.


C. Partner B contributed the smallest percentage of net capital contributed, but her



 percentage of net income exceeded Partner A’s share of net income which 



could be explained by the fact that Partner B worked more hours in the 



business than Partner A.


D. Partner C contributed the largest percentage of net capital contributed and 



received 58% of the net income.


E. Both C and D are true.

60. If net income had been divided equally, the return on equity for Partner A would be


A. 23.08%       B. 25.86%       C. 30.0%       D. 31.58%       E. 50.0%

Group 12

For questions 61 through 67 write on your answer sheet how each account is closed (or not closed) at the end of the fiscal year using the following code: 

	DR
	=
	debit

	CR
	=
	credit

	NC
	=
	not closed


61. Dividends—Preferred 



65. Accumulated Depreciation—Equipment  
62. Retained Earnings




66. Unearned Fees


63. Paid-in Capital in Excess of Par

67. Interest Income





64. Gain on Sale of Plant Assets

Group 13
Don’t you hate it when this happens.  Your spreadsheet software is set to automatically save your open file every 10 minutes, which it turns out was about ten seconds too long to beat the lightning strike that blew the power to your computer.  When you reopened the recovered file much of your data was missing.  Refer to Table 3 on page 11.

For questions 68 through 78 write on your answer sheet the correct amount for each item or account balance as of December 31, 2008.  (You do not need to indicate whether the amount is a debit or credit balance.)
68. Accounts Receivable (net)

*69. Supplies on Hand

70. Prepaid Insurance

**71. Buildings & Equipment

**72. Accumulated Depreciation—Buildings & Equipment

*73. Note Payable (due in 3 months)

74. Dividends Payable

*75. Total Stockholders’ Equity

76. Net Sales

*77. Net Purchases

78. Working Capital

Continue to refer to Table 3.  For questions 79 and 80 write the identifying letter of the best response on your answer sheet.

79. The federal corporate tax rates are as follows:  15% of the first $50,000 of taxable


income plus 25% of the next $25,000 of taxable income.  The company had some 


income that according to the tax code was not subject to federal corporate taxation.


The corporate income tax that is recorded as a liability is calculated correctly 


according to the tax code.  What is the correct amount of taxable income that was 


used to calculate the corporate income tax liability?


A. $43,760       B. $66,720       C. $67,120       D. $67,520

80. Calculating the return on sales yields the same percentage


A. as the return on stockholders’ equity. 


B. every year because sales is always expressed as 100%.


C. as calculating the vertical component percentage for net income using sales as 


     the base amount.



D. except when there is a bull market on Wall Street.

This is the end of the exam.  Please hold your answer sheet and exam until the contest director asks for them.  Thank you.
TABLE 1

(for questions 46 through 56)

The Skyline Company uses the allowance method to estimate uncollectible accounts.  The company estimates that bad debts expense for the year will be 2% of net sales.  It is company policy to adjust and close accounts only at the end of the fiscal year, which is December 31.  

At the end of the fiscal year (12-31-08), after actual uncollectible accounts had been written off and before any adjusting entries are recorded, the general ledger contains the following accounts and normal balances.

	Sales
	182,600
	
	Accounts Receivable
	36,520

	Sales Discounts
	2,404
	
	Allowance for Uncollectible Accounts
	604 cr

	Sales Returns & Allowances
	1,246
	
	Bad Debts Expense
	zero


TABLE 2

(for questions 57 through 60)

The owners of Moondog Coffee are pleased with the results of the first year of operations and plan to open more locations.  The partners need fresh capital to do so and decided to attract new investors to become partners.

The partners plan to promote this expansion based on the strength of their financial statements and various profitability ratios.
Listed below is information taken from the Statement of Changes in Partners’ Equity for the year ended December 31, 2008.

	
	Ptr A
	Ptr B
	Ptr C
	Total

	Beginning Capital Jan. 1, 2008
	0
	0
	0
	0

	Original Investment Feb. 1, 2008
	95,000
	52,000
	220,000
	367,000

	Additional Investment June 16, 2008
	21,000
	12,000
	23,000
	56,000

	Less Withdrawals in 2008
	16,000
	4,000
	18,000
	38,000

	Subtotal (Net Capital Contributed)
	100,000
	60,000
	225,000
	385,000

	Net Income
	18,000
	27,000
	45,000
	90,000

	Ending Capital Dec. 31, 2008
	118,000
	87,000
	270,000
	475,000


The net income of the business is the return on the equity investment of the partners.  The partners have calculated this ratio for Partner C to be exactly 20.00%.  The division of net income was based on net capital contributed and also considered the amount of time each partner worked in the daily operations of the business.

TABLE 3

(for questions 68 through 80)
Sell It Like It Is, Inc.

Comparative Balance Sheet
December 31, 2008 and 2007

	Assets
	12-31-08
	12-31-07
	Inc <Dec>

in dollars
	Inc <Dec>

Percent

	Cash in Bank
	
	15,000
	
	50%

	Petty Cash
	
	100
	150
	

	Accounts Receivable (net)
	
	
	
	

	Merchandise Inventory
	
	50,000
	
	24%

	Supplies on Hand
	
	
	
	

	Prepaid Insurance
	
	
	
	

	Buildings & Equipment
	
	
	
	

	Accum. Depr.—Buildings & Equipment
	
	
	
	

	Land
	
	100,000
	
	150%

	Total Assets
	
	
	
	

	Liabilities
	
	
	
	

	Accounts Payable
	
	48,100
	
	<50%>

	Note Payable (due in 3 mo)
	
	0
	
	

	Interest Payable (due in 3 mo)
	270
	0
	
	

	Federal Corporate Income Tax Payable
	11,680
	
	
	

	Dividends Payable
	
	
	
	

	Note Payable (due in 4 years)
	357,000
	
	
	

	Total Liabilities
	
	
	
	

	Stockholders’ Equity
	
	
	
	

	Total Stockholders’ Equity
	
	1,115,600
	
	

	Total Liabilities & Stockholders’ Equity
	
	
	
	


Sell It Like It Is, Inc.

Income Statement

For the Twelve Months Ended December 31, 2008

	Sales
	

	Cost of Merchandise Sold
	

	Gross Profit
	

	Expenses (includes federal income tax for simplicity)
	

	Net Income After Federal Income Tax
	55,440


Helpful Information for Data Recovery:

	
	Quick Ratio 1.4:1
	
	
	Return on Sales 12%

	
	Current Ratio 2.7:1
	
	
	Return on Stockholders’ Equity 5%

	
	Gross Profit Percentage 41%
	
	
	Prepaid Insurance on 12-31-08 was .8% of Total Assets

	
	4% of the original cost of the buildings & equipment has been depreciated since the business started

	
	Short term note due in 3 months is a 9-month note signed on 7-1-08 and bears 6% interest.  This interest is recorded as Interest Payable (due in 3 mo).

	
	Disregard accrued interest on the long-term note (due in 4 years)

	
	The company did not make any quarterly federal corporate estimated tax payments in 2008

	
	Common shares authorized: 250,000; Issued: 25,000 (Preferred stock authorized—none)

	
	Board of Directors declared dividend on 12-10-08 of 60 cents per share


